',4170/’// 20T

Date

». Practice by Objective

18.1.2

What is the solution for the
inequality shown below?

—15<a+15

A a>-30

B a < —-30
C a<30
Da<0

:::::::

Which numberline represents the
solution to the inequality below?

5—-3x>17

C <==o—t+—t+—+—+—++++
5-4-3-2-1 012345
D ===t =

v3

p/FAa 4/24//1[/ U 3

The scale below models an
inequality. The farther down the
scale is, the greater the value.
What is the solution to the
inequality?

Which inequality could be used
to represent the situation “4 less
than three times a number £ is
greater than 45”2

CA3—-4=45
B 4h—3 <45
C3h—4>45
D45 —4<3h

15
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Practice by Objective

"8z DA A M2 and 4.2
Arile what doU sz, —

; /' What is the solution for the E Yy '~ The scale below models an
inequality shown below? 4 inequality. The farther down the
: scale is, the greater the value.
) —15<a+15 ‘ What is the solution to the

§ @)a > —30 I6Aa+\{\§ : inequality?
Ca<3 —m :
Da<0 =< A

R

Solve just (i ke you would an

,,,,,,

2 ' Which numberline represents the
solution to the inequality below?
5—3x>17
A <=l

—5-4-3-2-1 0123435 0
B — = | E
. @]
5-4-3-2-1 012345 | % Vhichinequality could be used o
« : to represent the situation “4 less g
C ‘_'5_‘4_5_'2_1' T 54 | than (three txmesanumber)h s 5
A greater than 45”7 g
; greater 1 o
3 e e o s o o el B A3 —-4=45 =
—5-4-3-2-1 012 3 45 : B 4h — 3 < 45 <
= . h—4>45 g
- D 45 —4 < 3h g
-23xzZ 1] i <
_ -5
— g
-Sx zZ |2

- £ =
QQ er@ﬂ%ﬁw Yo IMUA p ly or divide @ a ﬂ%/uﬁ Ve HE YOU ks
1§ e aaen (QUJESethe [0LGUALITTES -







Name Date

=™ Practice by Objective
- 8.3.2 PA, G [ | amnd [-2

1' " For which triangle is the \ 3 ~ One leg of a right triangle
relationship a? + b? = ¢2 true? measures 9 cm and its

hypotenuse measures 12 cm.

A C | :
, What is the length of the
a ¢ a b other leg?
b c

A 1.7 centimeters

a
B D B 7.9 centimeters
, b N b C 9.1 centimeters
D 11.6 centimeters
C &

<

4 How much shorter is the direct

- What is the length of segment g:’ﬂtl fromfA to f tthizl‘ntthz ‘?ath
BD in the diagram? at goes irom A to C to 5+
A D
Ty
A
B C —4-3-2 |0 2 3 4x
..... » T
-3
—4
|
A 6 units A 1l6 un%ts
B 8 units B 29 un%ts
C 10 units C 44 un%ts
D 12 units D 5.4 units .

*au[ ‘sorueduIo)) [[TH-ABIDIJA] Y], JO UOISIAID B '[{IH-MEIDIA/200Ua[D @ YSukdoD
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Name Kl(/@r

a

|25

Date

‘\ ang‘s

72 hww;gm;(g@

- Practlce by Objective s

-

tolall
S ng

L/]
% 8 3.2
§\ Pﬁa@fﬂ[ala/ﬂéé /a;)/
§ ‘t : 1' /' For which triangle is the 3_ ' One leg of a right triangle
§ relationship a? + b? = ¢? true? measures 9 cm and its
- hypotenuse measures 12 cm.
, A (62
g What is the length of the 5
< = a c a b other leg? 0 HO >=
S T
il <] b ¢ 4" +*= L(
% ~ s A 1.7 centimeters bp/’ L{
N KP .9 centimeters — '
\ b : l C 9.1 centimeters I
a b : F—
i ?E ‘ D 11.6 centimeters 10 (0}
D) |
Q_« ¢ V S 6§
]
=7 : : _4 * How much shorter is the direct
© 2 . : path from A to B than the path
What is the length of segment
BD in the diagram? that goes from A to C to B?
A D
- y
// £ g 4
L U B anw
// Va)) m o] - pr.a
< M
TRARRGY ¥e 432 |O|— 23 4x
\ T2
2 i 2/ s |_4
a HOZ 01 2= C 2
A 6 units b +8 C 1-6 i B T @i
B 8 units 7(y f(ﬂq C B 2.9 units 4 +15 =C Z
C)10 units } w C/ 2 C 4.4 units
: : D 5.4 units Q-q C
D 12 units 'l”% . [ g (o 7
- | 7z

ArChB= 9+ad= 7T
Aol & 5285

i 5

Q‘.@ ‘saqundwo) [[TH-MBIDIA 24, JO uo;smp € [[IH-MUI99[A;200u910 @ yFukdon
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NAME

OAS PA.GM.2.1 and 2.2

G) Use the net to find the surface area of the rectangular prism.

se( Lo 10 £ ' 5

‘ Sft ! ! i

Sf : : !

5f
10ft
A 400 ft?
B. 170 ft*
C. 858°
@ 340 ft*
@ find the surface area of the cube.
Sm :
TV sm
Sm

Maltz 2017






6
~ What is the surface area of the cylinder? Use 3.14 for 77 and round the answer to the nearest square centimeter.

$3cm

J

1]

! -
: {not drawn 10 seale)
\

1

M
~1
12
LI
n
B

[ =]

O 0o =
(U5}
(@)Y
(0%
n
BI

A 43in?
B. 13in?
C. 2lin?
D. 10in?






NAME

April Y g

K‘é@/

@ Use the net to find the surface area of the rectangular prism.

A 400 ft?
B. 170 ft*

C. 85#7

Sft

340 £t

find the surface area of the cube.

@ 384 m"”

B. 312 m’
C. 192 m*?
D. 256 m’

—
—

s
E
h

5ft

10ft

f’w s,

B su 2t aths 20
“Q\(Q g)#&(fg 7")\[6’ )

OAS PA.GM.2.1 and 2.2

L\

§
0

5
v

o

SA of mcmwjmmr VU +HLh + Awh
= 2(810) FA(89) + X(io-2)

Maltz 2017






What is the surface area of the cylinder? Use 3.14 for 77 and round the answer to the nearest square centimeter.
N L Shogaylinder= 2 rh dncr”
| h? g ? " = AB.H)-7349 6R)T
= Y. 3352

@ 724 oo

1422 em?

a 2
362 cm

O 0w

229 em-

h+dar

N 233,14, 2504 + 2°30 125
t0ia? = 20.5025
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Sean is making a kaleidoscope
from the tube shown.

B cm—-l

How much contact paper would
he need to cover the top, the

bottom and the side of the tube? .

A 2167 sq cm
B 907 sq cm
€ —547sq cm

[J.72m sq cm

The figure below shows a
rectangular prism. What is the
surface area of the prism?

12 in.

A 750 sq in.
B 825 sq in.
C 912sqin. .

D 1020 sq in.

Mastering the OCCT, Grade 8 25
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KQ/é/j/ | Date
2 Practice by Objective
8.4.1 P, G, 2. | Grd 2o >

/' Seanis making a kaleidoscope
from the tube shown.

oad 3 op apeh e ATr?
f W\L oarE 3%

: 12¢m -

- * qow

How much contact paper would
he need to cover the top, the
bottom and the side of the tube? .

A 3(1)67[ sqem hd’\ (ﬂ’% Y)SLUe'r
& s 124 g o 1

| D —727[ sq cm \V\ }@N\"

' The figure below shows a
et " | o= au e 2tht Awh
**** i . = 2(18:8) + 21813+ 2(8 12)
Wien f - qn

e 8|n\/0

A 750 sq in.

B 825 sqin.
912 sqin. .
1020 sq in.

Mastering the OCCT, Grade 8 25






NAME____
VAT TR CRA P 7 onon
:/j‘gj’ .Eyl /L %‘_q (.’f‘ f:’.\fj‘ 5 "-j" n 'j/ A A

Pt
LU A rectangular prism has dimensions of 8 m. 10 m, and 12 m. What is the volume of the prism?

A 308 m°

B. 960 m®
C. 970 m°
D. 120 m®

R\U A cube measures 19 fze: along each edge. What is the volume of the cube?
6.859 ft’
6.959 ft°
1.083 &t

U o w

5766

@" A rectangular prism has a base area of 171 square feet. The height of the prism is 8 feet. What is the volume of
the prism?

A 29305 &
1,368 ft°

C. 1378#°
179 &

Maltz 2017






What is the volume of the cylinder? Use 3.14 for .

g 1iem

(not drawn to scale)

&

162.78 cm?

I;L_

B. 49941 cm?
C. 782.26 cm?
D

. 763.05 cm®
7 '5: What is the volime of the cylinder? Use 3.14 for 7.

2/

7ecm

\_.// (not drawn to scale)

A. 6394 cm?®

A
B. 197.82 cm?®
C. 2826 cm®
D

. 461.58 em?
((ﬁ What is the volume of the cylinder? Use 3.14 for 7.

o

A3ft

~

(not drawn to scale)

(€5
[
N
N
'_'l

(U]
=
\D
L
U

1

fr

9 0w
(@)Y
\D
\D
—_

15.89 £°






\{\(\ NAME
\AC DA CRA P 2D cvgmnd D A
@[‘E‘.S .g.lféé }'— -] ("\..Tf B.\:I/‘ﬂ: b=} /";! 2] Ei) E!i }"«‘l i. 'l':r,{ -\/"'t'l 4 4’

.
U) A rectangular prism has dimensions of § m, 10 m, and 12 m. What is the volume of the prisra?

ZZE Z \]%Tr r@@(fb”‘{a"ftwr o (}2' W [/)
£ V)(]WVC g;’O‘lL

C. 970 m’
D. 120 m° :
N = po

(\U' A cube measures 19 feet along each edge. What is the volume of the cube?

@6,8::9&-; \/;JZ,WLL\

@ A rectangular prism has a base area of 171 square feet. The height of the prism is 8 feet. What is the volume of
the prism?

A. 29305 & -\’lj B , L\
@ 1,368 &° ,
1718

C. 1378 f°

D. 179 ff _ /5(‘78

Maltz 2017






(br What is the volume of the cylinder? Use 3.14 for . \/w( O‘j [I VWL@V’ /T( r L

C 2 =g e 7254, T

(not drawn to scale)

162.78 cm?

o

499 41 cm?®

&

782.26 cm?

@ 765.05 cm?

4 } ‘What is the vohrme of the cvlinder? Use 3.14 for .

N E f{\(rzla
=9,[{e3%7

@]

Tcm L)

\,./ (not drawn to scale)

65.94 cm?

197.82 cm?
28.26 cm’

461 58 cm?
What is the volume of the cylinder? Use 3.14 for 7.

==
238 |, :331492111&;2,3

(not drawn to scale)

(?*).U OQ e






Name

e ——

853

During the past winter the
Bender family had monthly
heating bills of $79, $146, $212,
$149 and $212. Which measure
makes the bills appear the
highest?

A mean

B median

€ mode

D range

The Oklahoma Sooner football
teams from 2000-2008 won the
following number of football
games.

13,11, 12, 12, 12,
8,11,11,12

Which two measures are the
same for this data set?

A mean and median
B median and mode
€ mode and mean
D range and mean

The following table shows the
temperature highs in Oklahoma
City for the first five days of the
month of May. For the set of
data, which measure is the

greatest?
Day ‘-Tempev‘réture {°F)

1 79°
2 57°
3 62°
4 64°
5 62°

A mean

B median

€ mode

D range

4 Atohi read books with the

following number of pages.

| 162, 234, 178, 320, 178, 186

What is the mean of the number
of pages of the books he read?

A 178
B 182
C 186
D 210

30 Mastering the OCCT, Grade 8
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April 4t

vme KO
' U

=5 3 Practice by Objective
__a /O/l',/ Dﬁ/ﬂ/

During the past winter the 3 The following table shows the

Bender family had monthly
heating bills of $79, $146, $212,
$149 and $212. Which measure
makes the bills appear the

temperature highs in Oklahoma
City for the first five days of the
month of May. For the set of
data, which measure is the

highest? ] greatest?

= )54.¢ »
A mear.I ¥ 7 A ~ Day Temperature (°F)
B median =~ /¢/( ” o0
(©mode=7 /). ;
D range = /33 : -

3 62°

4 64°

5 62°

@mean

B di
2 The Oklahoma Sooner football mecian
C mode

teams from 2000-2008 won the D
following number of football -

games.

13,11, 12, 12, 12,
8,11,11, 12

Which two measures are the 4

sirtie for This ditss sef? Atohi read books with the

following number of pages.
A mean and median

median and mode
C mode and mean
D range and mean

| 162, 234, 178, 320, 178, 186

What is the mean of the number
of pages of the books he read?

A 178
B 182

e i$ e qerage - add upthe date. | & jg6
T and divide by e Niumbzrof G i, B0

medliciin isHhe middle #ubhen data i 4 iv
oL, |
woce is et odcire the most

i e alest Jadue mious lowest value
Y;(_k,h-(d.g/ 30 'I\/Lla‘st ring the OCCT, Grade 8
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